CU College of Music Clarinet Auditions Fall 2020

Please record/perform the excerpts in the following order, recording them in one
complete take using audio and video.

Please contact Professor Dan Silver at daniel.silver@colorado.edu with any questions.

#1 Brahms Symphony NO. 3 MVT |, middle of m. 23 to end of M.
46/Play m. 36 on B-flat clarinet only if you do NOT have an A clarinet.
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Excerpts #2-#4 Below

#2: From Donald Grantham’s Fantasy Variations for Symphonic Winds, Variation
19—BEGIN m. 366

#3: From Rimsky Korsakov’s Cappricio Espagnol, Excerpt from Mvt IV-Play all
marked solo and Cadenza IV

#4 From Samuel Coleridge-Taylor: Romance for Violin and Orchestra Opus 39
NOTE: Play this at the printed pitch, starting on a written “B”; do NOT Transpose.
Play m. 5 all the way to figure 3.
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Variation 20
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IV.Scena e Canto gitano.

B.
Allegretto.
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VIOLIN.

ROMANCE.

S. Coleridge-Taylor. Op. 80.
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